These are review exercises from the textbook from chapters 12 and 13.

The answers to each exercise

may be found at the back of the book (both odd and even solutions).
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35, Hevenne 1If the marginal revenue for a month for a
product is MR = 0.06x -+ 12 dollars per unit, find the
total revenue from the sale of x = 800 uniis of the

product.

40, Revenue If the marginal revepue for a product is

MR = j—Q“(L find the total revenue function.
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41. st The marginal cost for a product is jfp. - o
6x -+ 4 dollars per unit, and the cost of producing 1y )
items is $31.400.

{a) Find the fixed cosis. )
() Find the total cost function.

42. Profic . Suppose a product has a daily marginal revenge
MR = 46 and a daily marginal cost MC = 30 + i
both in dollars per unit. If the daily fixed cost is $200,
how many units will give maximum profit and what i
the maximum profit?

43. Neationa! consumptior . If consumption is $8.5 billiog

when. disposable income is 0, and if the marging
propensity to cousuine is

dac i

E\‘ ﬁ -+ (.6 (in billions of dollars)

find the national consurnption function.

44, Narionel consumpiion  Suppose that the marginal

propeusity to save is

ds N

E—» =02 — 0.1e”® (in billions of dollars}
and consumption is $7.8 billion when disposable
income is 0. Find the national consumption function,

CcH 13 Evaluate the integrals in Problerqns 7-18.
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Find the area beiween the curves in Problems 19-22,
19, y=x*-3x+2mdy=x*+4fromx=0tox =35
200 y=x2andy =4x + 5

2l y=xXandy = xfromx = ~Itox =40

22 yv=x"~landy=x—1

39, Mainfenarce  Maintenance costs for buiidings increase
as the buildings age. If the rate of increase in mainte-
pance costs for a building is .

where M is in dollars and ¢ js time in years, 0 = 1 = 15,
find the total maintenance cost for the first 9 years
(r=0twr=9),


dwilson
Text Box
These are review exercises from the textbook from chapters 12 and 13.  The answers to each exercise
may be found at the back of the book (both odd and even solutions).

dwilson
Text Box
CH 12

dwilson
Text Box
--------------------------------------------------------------------------------------------------------

dwilson
Text Box
CH 13

dwilson
Text Box
XXXXXXXXXXXXXXXXXXXXXXX
XXXXXXXXXXXXXXXXXXXXXXX


46,

47,

48.

49,

50.

These are

. Cost

Income sireams  Find the total income over the next
10 years from a continuous income stream that has an
annnal flow rate at time 7 given by f(f) = 125679 i
thousands of doliars per year.

imcome sireary  Suppose that a machine’s production

is considered a continuous income stream with an

annual rate of flow at time / given by f(f} = 150e~%%

in thousands of dollars per year. Money is worth 8%,

compounded continuously.

{a) Find the present value of the machine’s production
over the next 5 years.

(b) Find the future vaiue of the production 5 years from
oW,

Average vest  Suppose the cost function for x unifs of
a product is given by C(x) = V40,000 + x? doliars.
Find the average cost over the first 150 units.

Producer’s surpiuy Suppose the supply function for
x units of a certain lamp is given by
10

2 4+1

p = 0.02x + 50.01 —

where p is in dollars. Find the producer’s surplus if the
equilibrium price is $70 and the equilibrium quantity 1s
1000.

Ineome sireams  Suppoese the present value of a con-
tintots income stream over the next 3 years is given by

e
P = 9000 J 19080 g,
0

P in dollars, ¢ in years

Find the present value,

Cpse  1f the marginal cost for x units of a prodact is
MC =3 + 60(x + 1) in (x -+ 1) doliars per unit and if
the fixed cost is $2000, find the total cost function.
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33,

54,

41.

42.

43.

44,

45. P

from chapters

Capital vafiie  Find the capital value of a business if
its. income is considered a continuous income stream
with annual rate of flow given by

f(6) = 120003 .

in thousands of dollars per year, and the current inter-
est rate is 6% compounded continuously.

Tetaf imcome Suppose that a coniinuous income
stream has an annual rate of How f(£) = 100e =907 (in
thousands of dollars per year}. Use Simpson’s Rule with
n = 4 to approximate the total income from this stream
over the next 2 vears.

The future value of $1000 invested in a
savings account at 10%, compounded continuously, is
§ = 1000e%Y, where 1 is in years, Find the average
amount in the savings account during the first 5 years.

Savingy

Frcowme siveams

Suppose the total income in dollars
from a video machine is given by

I = 5002 (<=4 7in hours
Find the average income over this 4-hour period.

In 1969, after the “Great Soci-
ety” initlatives of the Johnson administration, the
Lorenz curve for the U.S. income distribution was
L(x) = x21936_In 2000, after the stock market’s historic
10-year growth, the Lorenz. curve for the U.S. income
distribution was Lix) = x>0 Find the Ginl coeffi-
cient of income for both years, and determine in which
year income was more equally distributed.

Ancome @iRiribuiion

Consupeer’y srrpéns The demand functon for a prod-
uct under pure competition is p = V64 — dx, and the
supply function is p = x — 1, where x is the number of
units and p is in doliars.

{a) Find the market equilibrium.

{p) Find the consumer’s surplus at market equilibrium.

rrars

Fods e Find the producer’s surplus at
rnazket equilibrivm for Problem 44.

12 and 13. The answers to each exercise

may be found at the back of the book (both odd and even solutions).
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